FY-3C Period : 202411
MWHS2 1 89V GHz, 1000 hPa

all

Tb (K)

M 2 & B = =2 B 2 & B % = B & & B =2 = B o oa B o= m |
1 2 3 4 5 6 7 8

25000

20000

4115000

- 10000

Observations

5000

9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
Scan position angles classes

= bias obs-guess = std obs-guess nb obs nb rejects [l nb gross errors




Tbh (K)

FY-3C
all

Period : 202411

MWHS2 2 118.67H GHz, 30 hPa

45000

40000

35000

30000

25000

20000

Observations

15000

10000

5000

10 11 12 13 14 15 16 25
Scan position angles classes

= bias obs-guess = std obs-guess [ nbobs [ nbrejects [l nb gross errors




FY-3C Period : 202411
all MWHS2 3 118.55H GHz, 70 hPa
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all MWHS2 5 117.95H GHz, 250 hPa
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all MWHS2 9 113.75H GHz, 900 hPa
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all MWHS2 13 180.31H GHz, 500 hPa
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